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Learning outcome

Students will use a Venn diagram to compare and contrast information and recognize
relationships between concepts.
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Previous knowledge:

A=(5,6,7 8,9
B=@4,S5267
C=(,234,5)
@)AuB=@4,5,6,7,8,9
AuB)uC=(,2734,56,1728,9
)BuUC(,23,4156,7
AuBuwUC) =(,213,4,5,6,7, 8,9
(i) AnB =(5,6,7
(ANnB)ynC = (5
ivvBNnC=@,)5)
ANnBnNnC = (5
VMAUBUC=(1,2,3,45,6,7,8,9
AUBuUC) =(,23,45,6,7, 8,9

Yes, these are equal. DM
VM) AnB NnC=AnBNCO 0 =y
{5} = {5} EDUCATIONAL GROUP
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Exercise 6E

1)

Sol:

From the given diagram find :

() AuUB (i) A’ B
(i) A—B (iv) B — A
(vv (AuBY

AB
h g

(i) A uB-={acde} v {beef

=> A v B = {abcdef}
(ii) A' = {bfgh}

A'n B = {bfgh} n {bcef}
— A'nnB = {bf}
(i A —B = {acde} — {bcef}
= A —B = {ad}
(ivy B—A = {bcef} — {acde}

= {b/}

(v) AvuB = {abcdef}
(A v B) = {hg}
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Exercise 6E

2) From the given diagram, find :
(i) A
(i) B’
(iit) A' v B’
(iv) (A n B)Y

Jm

IsA'uB =(AnB) ?

Also, verify if A" n B" = (A v B). UDM
L2
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2) Sol:

(i) A = {1346}
& A’ = {2,5,7,8,9,10}
(ii) B = {1,2,5}
B' = {3.4,6,7,8,9,10]
(iiiy A'v B’ = {2,5,7.8.9.10}
v {3.4.6,7,8,9,10}
= {2,3.4,5,6,7,8,9,10}
{1,3.4,6} n {1,2.5}
=41}
(A nB)Y = {2,3,456,7,89,10}
From Part (iii) and Part (iv) we conclude
A'vu B =(An B)
Now A n B= {2,5,7,8,9,10}
~ {3,4,6,7.8.9,10}

(iv) AnB

= A'nB' = {7,8910} sl
Now AuB = {1346} u {125}
= {1,2,3,4.5,6}
(A v B) = {78910} skl

From | and 1l we conclude
A'nB = (A v BY
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3)

Use the given diagram to find :
() AuBnC
(i) B—((A—C)
(i) A—B. (iv) An B
sSAnB' =A—B?
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3) Sol:

(i) BN C = {defghj} n {hijkl}
= {hj}

AU B nC) = {abcdghi} v {hj}
= {a.b.C.d,g.h.i-j}
i) A —C={abcdghi}- {hijkl

= {a,b,c,d g}
B—(A — )= {defghj} - {a.bcdg}
= {efhj}
(i) A —B = {abcdgh,i}

- {defghi}
= A —B = {abci]
(iv) B' = {a,b,c,ik,l,m,n,p}
ANnB = {abcdghi}
N {a,b,c,i,k,l,m,n,p}
= A n B = {ab,c,i} o | |
From I and II we can conclude ANB' = A —B
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Home assignment

Exercise 6(E) -1 to 6
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